&F0 545 s ® K 15
i KET A4 - SR NG E
[rawoved % 0w % o Ppemen iy
% e = * = = # ®
WY ok Fo SR BB PN D F2 P L 0k —# 5. 3 8.6f  —| —
EFELIA D Mtk
1 BRFR A — | BSHR |8 b L L Y bR
2 FEERCEEZ2 0 9 FHBN 40 | 1.3 Jattfé’;ttiféﬁﬁtt@ﬂitﬁ%
3 EEEEERREBV 40 | L2|P 13ff 25T
4 BB bl 30 | L1fRE 11l 1480 3. lrﬁl 3.1
—% EE#R 40 | 1.4 Jﬁth@Ettféﬁbti”Eﬁtti’é
BER» L2 13 32k b i
LERLS o i L3 11l 14t 3. 1%l 3.1
bd[Fans! 2 S FL I N oD 2 P A X0 —#t 2. SE 8.5 - -
RERLAA 0D Hitg
1 RiERW 1.2 |F 13 25 A e
2 LELU OISR 12 [ 3.8l 14 3. 14fi 3. 1
| B S % SR B HIER PN oD 2 T M X —ffd 3. SK 8.6 - -
LRELLA D s
1 EER 30 | L3 |[ArEFE | —
2 RIERW L2 14ff 28kt
3 LRERIAh oD e L2 E 11l 2850 3. 1 3.1
7 4 it SR BT PN 0D J L 35 —Jiti 2. SEE 8.6 —| -
LFREAS oD Hirtsk
1 FaEinwy L1 14 28 b
2 kRSO 1.2 [ 3.8 1454 3. 13 3. 1]
7y bAbEs PR A5 B b gl Y oD JE FH e Xk —#E 3. 9E 8.6 — —
LERLIA o i
1 [EEsn 30 | L3 |EcHEELE | —
2 Baainw L1 14 28 — -
3 kRS oHE 1.0 [f 3.8#f 28 — —
&| db&EH Fo S R LML ) 0 f D 3 XU —fifi 2.8 8.6  — -




&F0 545 i = X °H
AR 4« Stk NERIEE
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
| el LFELISY o> Hittel
1 REBW L2 14 28 b b
2 LERLIA o i 1.2 [F0 3. 8% 140 3. 1 3. 1
| AE P S LG P 0 P i X0 At 2.8E 8.6 —| —
RS o i
1 FSESL L2 14 285 b v e
2 kLo 1.3 [#l 3. 8%l 14t 3. 1l 3. 1
ReuF P2 2 1 LM AR P 00 2 R At X —fbl 3.9 8.6 |
LFRLLA o> it
1 M — | B J?Jtti’éattﬁﬁttiéﬁtti’é
2 LREERIEERBN 40 | 1.3 J%tt%%’;ttiémtti%?ﬁtt“ﬁ
3 FaERW 30 | L4|F 13 3oiEhYE LAY
4 BERLSh o His 30 | LA 1UHE 14h 3. 1 3.1
2% R S TR IR PN oD 2 P B X B —fl 3. SK 8.6 - -
LRELLA D s
1 EER 40 | 1.3 |[R L YERE b YT L T T
2 RIERW 30 | L2|h 13 32k uET kT
3 _LRCEMAE D 30 | 12 1l 28H0 3. 1HE 3.1
I EHE it SR BT PN 0D J L 35 —Jiti 2. SEE 8.6 —| -
LFREAS oD Hirtsk
1 FaEinwy L1 14 28 b
2 kRSO 1.2 | 3.8 1454 3. 13 3. 1]
U M Ay PR A5 B b gl Y oD JE FH e Xk —ﬁSﬂESﬁ — —
LELEASR > iR
1 TEEANS R 30 | L3 |HbdEEkE - —
2 LERLS o LoL e LU L1466 3. U4E 3. 1
5 H et SR LA P 0D o P B XK i 2. 850 8.6f  —| —

EFRLASR o iU




&F0 545 i = X 3E
AR 4« Stk NERIEE
p| 7 TR aRe  E W % A e T Tk e | s [
% e = * ® = # ®
U B 1 BEsERy L1|# 14 28mb bR
2 ERLIS 0K 1.2 [t 3. 80 1456 3. 1k 3.1
i fr SR LIS PN oD f P L Bk it 2. SE 86 —| -
_EETLAS 0 Hitdk
1 R L2 1dff 28T b M b
2 LFELIA o i 1.2 [f 3. 80 14l 3. 1l 3. 1
T & i S i L L ) o f D o —|#f 3. 9% 8.6] — —
_EFRLASh o> it
1 REkwy L1 14 28 b HEr ER T
2 LSO K 12 [ 3.8l 14t 3. 13fi 3.1
T# 2 ST ELH IR PN oD 2 P K3 |l 2. SE 86 —| -
LFRLLA o> it
1 RGERW L2 h 14 28T bR YE
2 RECEAh oot 1.0 [fli 3. 5fh 145 3. L 3.1
EE 2 R BTN oD 2 F L X3 —ft 3.9 8.6/ —| —
ERELASR D iR
1 RIER 30 | L3|F o3f 28 - —
2 _ERCEMA O 1.2 [l VIfEE 140 3. 1 31
ik et S AR B PN D 2 F M IXCI —fifi 2. 80 8.6f  —| —
LFREAS oD Hirtsk
1 FaEinwy L2|h 14 28T L
2 kRSO 1.3 [ 3.8 1454 3. 13 3. 1]
) PR A5 B b gl Y oD JE FH e Xk —E 2. SE 8.6 — —
LELEASR > iR
1 RERWY L1 14 28fiT b iy b
2 LERLS o 1.2 [l 3. 880 L1450 3. 4h 3. 1
7| BT et SR LA P 0D o P B XK At 2. SE 8.5 —| -
EFRLIA 0> HitlE




&F0 545 i = X 1H
i KET A4 - SR NG E
S (TR wass @M m oW g [P ACEERTEECEA RS
% e = * ® = # ®
fz| =T 1 [EiE - BaERY L2 |h 13F 32mbiEmthag
2 _LEELA o M 1.2 [l 3. 80 1400 3. 1j4E 3. 1
o B fr SR LIS PN oD f P L Bk it 2. SE 86 —| -
_EETLAS 0 Hitdk
1 R L2 1dff 28T b M b
2 LFELIA o i 1.2 [f 3. 80 14l 3. 1l 3. 1
wH i S i L L ) o f D o —f#t 2. 8% 8.6] — —
_EFRLASh o> it
[ SRR L2 14 28T e Y b
2 LSO K 12 [ 3.8l 14t 3. 13fi 3.1
Bm 2 ST ELH IR PN oD 2 P K3 |l 3. 9E 86 —| -
LFRLLA o> it
1 RGERW 30 | L2|F 14f 28R R
2 hEELAh oo Hitdk L1l L1fph 284 3. L 3.1
& A IR FE IR BLHIIR N D J= M X3 —f#d 5. 3 8. 6 - -
ERELASR D iR
1 R — | B |RerEEL - —
2 LREERQFRLEELIRN 40 L1 J%LEXVEEH:@ - -
3 LSO 40 | L2 1URE 1480 3. 150 3.1
BE R SR B P oD 2 P M X3 —Jfii 3. 9Ez 8.5 —| -
LIS o itk 12 [ LIS 1480 3. 1jsE 3. 1)
A £ R LIS D 12 P M DI —JAti 3. 9E 8.6 —| -
FELLA D it
1 RaEnwy 30 | L3 13k 258 | —
2 kiSO Hi 11 1R 14 — —
B%E o S R B b 358 A oD J FH Xk —| 2. 846 8.6 @ — —
EEELIA o il LORE 11l 140 3. 10 3. 1
7z T P2 S I LIS N D P22 R AL Ko —ft 2. gl 8.8 —| —




&F0 545 i = X 5E
i KET A4 - SR NG E
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®

73| T LFELISY o> Hittel

1 REBW L1 14 28 b b

2 LERLIA o i 1.2 [F0 3. 8% 140 3. 1 3. 1

A2 ot AR BT PN o R O —fo 2.8t 8.8 —| —

EERLIA o Hitkek 1.2 [l 3. 80 140 3. 16 3.1

F IR i S 1 B BB A 0D f P 1 Xk —|#t 5.3 8.6  — -
ERLLSh O Hitle

1 RaEimw 30 | L3|P 13 23 | —

2 LRELU o i Lol 1 14 —| —

Rix R S 1A B AR PN D JR X0 —t 5. 3%f 8.6 —| —
RERLAA 0D Hitg

1 SRRt — | Mo |RHEEEEE -

2 AR EE - REUESERAL 40 | L2 [FLkEHEEE | -

[ CAAZRZERUTERY

3y£ﬁ%%<ﬁﬁ-ﬁﬁM/#ﬁ%ﬁ%so L2 |4 14 28t HEh L

4 RRELA DM 30 | L1 LLph 28H 3. 1 3.1

2| ERH B TR LI PN oD 2 T X —ft 2. 8l 8.5  —| —
LFEELS 0 Hirtsk

1 [EiE - BaEiRn 30 | L2[F 13 32MTLLMERTEL Y

2 _ERCEA DR 30 | 1.3 3.8 1450 3. Ll 3.1

| BFET ot SR BB P D 2 P M D —mSJESﬁ — —
EFELA o> ik

1 E&EBW 30 | L3 |EkrEERE - -

2 kLIS oo i 1.2 [ 11fpE 17T 3. 1fE 3. 1

i3 PR s Bt A — | BEAR |V L YR b YT e T b T

_EEELIAN 0> itk 40 | 1.2 |V bl R T b Y b v

N AE o S 41 L ML ) 00 f D L IR —|#l 3.90 8.6] — —
ERRLASN O HilE




&F0 545 i = X 6
AR 4« Stk NERIEE
p| 7 TR aRe  E W % A e T Tk e | s [
% e = * ® = # ®
N AE 1 [EiE - BaERY 30 | L2|h 13 3mbuEELTE
2 ERLIS 0K 30 | L2 LIE 1454 3. 1fE 3.1
E3Mitsa fr SR LIS PN oD f P L Bk it 3. 9E 86 —| -
_EETLAS 0 Hitdk
1 Bl e — | BEAR (VAL LY LY L T LY
2 LREARSEE - REB L1 13 3o AEmT b
3 kRSO L3[Rl 1l 14t 3. 1l 3.
SR FE2 3 1 B b 35k PR o i R it Xtk —Fl 2. SE 8.6 —| -
LFRLLA o> it
1 BiERw L1 14 28 iE e
2 hEEA o i 1.0 [ffi 3. 80 146 3. L 3.1
A 7K 5 SR B HIR PN oD i FH ML S —|# 2. 8k 8. 6 — —
ERELASN 0 HiU
1 RIERW 30 | L2t 14 28l L TE
2 ERLEA O 30 | 1.2 [ 3.8 14 3. L 3.1
0 o S B A PN D J i 2.8 8.6f —| —
RFRLAA D Hitks
1 RaEiRw L5 | 14 285 e HEf Ee fE
2 LRELstoR 1.3 [id 3.8 14F@ 3. Tm 3.1
olEEis B o A i dai — | BH VA Lb HENE e HET B ME b AR
FREkR<EERY 40 | 1.3 |JE bb R LR b YR B
ELIA O HE 30 | L2M 11 28§ 3. 1 3.1
| ¥ PR A5 B b gl Y oD JE FH e Xk —#E 3. 9E 8.6 — —
LELEASR > iR
1 RERWY 30 | L2|f 13 skl
2 LERLS o 30 | L1l 1l 145 3. 1% 3.1




